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Label the pre-ovulatory follicle:
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What is the enzyme responsible for degenerating the basement membrane?
Collagenase
What hormone increses this enzyme production? P‘l
Which Corpus Luteum cells produce this hormone? Lavge /an Juteat [ 41%]

Explain the formation of the CH:
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Describe Large Luteal Cells:
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What's the job of Oxytocin?
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- w theca el . ey

. T 7/ 0f veid Attt
- Weeoulw nuci®

- has OXytoCi VECELrtoV

- foduce P4 |
- H‘Ww?m&.‘a{:(5—-ﬂ)w” T intF

: The Corpus Luteum has a high metabojic demand?
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What happensif the female does not become pregnant?
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Key Hormones Involved: Hormone Sourse:
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@The Uterusis not required forsuccessfulluteolysis to occur.
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Explain the difference between functionaland structural luteolysis
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